1. e 1 3
& 3 forg i
(1) ¥2ETg Patdfeaze (1. Nah s ‘
(2) ‘Fﬁ?«'WTa distfiZt“;lﬁhfe San;tuary is situated in which
o aryana !
(3 ), @t (1) Mahendragarh
4 T (Fam) ' (2) Faridabad
(5) I T 31 4 (3) Rewari
' (4) Nuh (Mewat)
2 ghmon (5) Not attempted
. A 7 3y P
(1) 6 T e R 7 2
, 1968 ' When was the H . )
C o aryana Public Service
(2) 1965 ommission established ?
(3) 1966 (1) 1968
(4) 1967 Ez) 1965
(5 ‘ ) 1966
) IR AE &A1 =9TEd (4) 1967
3. afraoT 3% (5) Not attempted
‘ o TAHRIE B E 2
(1) 'Eﬂq\qm 3. Who is the first Lokayukta of Haryana ?
(2) Tftd g;rn'{ (1) Babu Parmanand
(3) A& fepeir smEret (2)  Ranjeet Kumar.
(4) tan o (3) Nawal Kishore Agarwal
. . (4) Pritam Pal
(5) IR 8l &1 =TEd | )
} (5) Not attempted
. qa@Ey TRgRI (3TTS N
i afe ( ) ! ﬂ]ﬁ I } 4, Panjokhra Sahib Gurudwara (Ambala) 18
gufdd 2| !‘ dedicated to the memory of .
!
(H TR sfi gLy gifgs S (1) Guru Sri Harkishan Sahib ji
(2) T® gunfag (2) Guru Hargobind
3) e RUBE RN (3) Guru Tegh Bahadur
@) T MR ISH (4) Guru Gobind Singh
R v ttempted
(5 mqﬁamaﬁ% (5) Not attemp
5. The East longitude extent of Haryana is:
5. BT T qeff T foream € - (1) 71°28 to 77°36
(1) T71°28 J 77°36' () 70°28'to 77°36’
3 74°27'8" t0 77°36'5"

(2) 7028 { 77°36
\3\ 74°27'8" @ 77°36'5"
77°28' & 84°38’
e = A1 =TEd

@ T8 W 84°38'

(5)

Not attempted
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10.

shmon afde gaar (2021 - 22) % gar ghawn i
F fhal Ig-shmr R 2

1 74

(2) 23

) 82

4 92

(5) I G | =R

T ¥ welled ed A9 el A P wen e
22

3) 17.552
4) 18,552
(5) IR A& &A1 IR

i a¥ 2022 - 23 % &ham T~ w9 § FY & &
I =g % fou 39 w9 =1 e vfowa fraifa e
TR ‘

(1) 98%

@ 62%

3) 57%

4) 43%

(5) IR A 21 =ed

g% TE4m (2020 - 21) % AR ghEmn A wfd
(1) ¥ 2,35,707

(2) % 1,85,630

(3) ¥ 1,90,950

(4) % 2,90,630

(5) A & Z1 ArEd

T 4 “Gd aml, 94 dee” &1 qun fresk

21 T ma 2

(1) 4 719 %1z

(2) g ard

(3) it gHTET A1 @

(4) ot Fwam fae arcd

(5) I A& <A1 9rEd

ARAM/C3/Page 3
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guries are there 1n

any Sub-Trea :
boroang st the Haryana EconomiC

Haryana according to
Survey (2021 — 22) ?

(1 174
(2) 23
(3) 82
(4) 92
(5) Not attempted

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,552
(2) 16,552
(3) 17,552
(4) 18,552

(5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

1 98%
(2) 62%
3) 57%
4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 — 21) ?

(1) ¥ 2,35,707
(2) ¥ 1,85,630
(3) ¥ 1,90,950
(4) ¥ 290,630
(5) Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1) Shri Ram Nath Kovind

(2)  Shri Narendra Modi

(3) Shri Manohar Lal Khattar

(4)  Shri Kaptan Singh Solanki

(5) Ngt;uttc!rnple-»dw 7




1. "arselt gmnfies guan s o g o) - 11, “Ladli Social Security Allowance Scheme”

launched on :

(D 1978, 2006

() 139ad, 2005 (1) 15t January, 2006
(3) 17w, 2006 (2) 15t January, 2005
@) 19N, 2005 (3) 18t March, 2006
(5) 3 & &1 =g (4) 15t March, 2005

) | .
12, =femn § yfvafie e 4 ade % fren % fora 1923 (5) Not attempte

T BSE-Ug F Wy free B SHiieR i’ |12 Who founded the ‘Zamindar League® along wi
TTHT Y 2 7 Fazl-i-Hussain in 1923 to spread the reach of th

Unionist Party in Haryana ?

(1)  1sgd TFER @H
(1)  Abdul Ghaffar Khan

(2) T qaRm
(3) vufed YErm vt (2) Rao Tularam
4) WM (3) Pandit Nekiram Sharma
(5) 3o ¥ wwR (4) - Sir Chhotu Ram
(5) Not attempted
13. wfag wEd oeiw 3 ol gww aEs yEw A :
AT ST H _ weg @ welifvd fRm d 1. i}:; famous writer Dharnidhar in his book
(1) e ‘ _ ; and Prakash addressed the State of Haryana
with the word
@) 3 S _ (1) Aryana
(3) m ‘ (2) Kuru Jangal
(4 wEw (3) Haritanak
(5) IR TEI &1 9Ed (4) Haribanka
. (6) Not attempted
14. gamn § yefda @ifer’ g @ 9 & mea -
BLetCR Afrg Em Wi g 2 14.  On which occasion is ‘Khoriya’, the famous d&*
(1) gred e i ' form of Haryana most commonly performed ’
@ wFAFaEE | (D In‘thiemonth ot Saawan
(2) During Holi
@ iy T (3) On child birth
(fl) ferelTe & T T (4) On the occasion of marriage
(3) T e (5) Not attempted
15. ERAT H #r foen W’ (el A T ) 15. Which district is famous for ‘Qurahi’ (2 slim
% fau gfeg 27 necked pitcher) in Haryana ?
(1) WdgEE (1) Fatehabad
(2) TEI™ (2) Gurugram
(3) W@rEl (3) Rewari
4): T (4) Jhajjar
(5) e T &A1 wEd (5) Not attempted
ARAMIC3(Rage T @ @ fere T / SPACE FOR ROUGH WORK



16.

wiewl &1 TN 87 -

e fdew, gfaon % fkw |16, Morni Hills, a tourist attraction point, is situated
S 8 feyg @ 0 in which district of Haryana ?
(1) =6l e (1)  Charkhi Dadri
2) ‘ﬁgﬁﬂ (2) - Panchkula
(3) e (3) Jind
@) ST (4) Ambala
(5) IR T ¥ T (5) Not attempted
C 17. Where is the Rajiv Gandhi Renewable Energy
AR s ‘11% o & et fow & 2 - Park situated in I:]Iaryana ?
@ A (1) Sonipat
@.\ T (2) Panipat
= W (3) Gurugram
@ wiewR (4) Faridabad
(8) IR &l ¢ W (5) Not attempted
18. E@mN & st ) werfed w1 ge S ERE 18. The highest elevated area of the Aravalli hills in
(1) Ha|H wRifeat (Fam feem) Haryana is
(2) ot i varfeat (deh few) (1) Mewat Hills
®) w0 A (Fw dr) (2) Dhosi Hills
4) PomH Tarft (ﬁw %F\"-T) _(3) K-aroh P.eak
. (4) Tipra Hills
o) S (5) Not attempted
19. Wﬁﬁiﬁwmwﬁmw%m :
Sl ) 19. What percentage of the total land in Haryana
(1) 81% .comes under agriculture ?
(1) 81%
(2) 70%
3) 6% (2) 70%
@ 7% 3) 6%
(5) TR T A 4) 7%
(5)  Not attempted
it \TT_\ZI * TR S vd (W‘Iﬁ 1 20. The first Grain ATM (Annapurti) of Haryana
fea et & ;"é ? State has been set up in which district ?
(1) T (1) Panchkula
@) =i (2)  Sonipat
(3) TeIm™ (3)  Gurugram
4) FHAR (4) Yamunanagar
(5) 3 & e (65) Not attempted
ARAM/C3/Page 5
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21, 'R & fhu et ww ) sRenvid fggr & am A of

EICI BRI
SABEGEI

(2)  @m

(3) T

) W

(&) IW 7 & W

22, ﬁmﬁﬁaﬁq‘gﬁqmgﬂ%m’é:wﬁaﬁaﬁﬁ?

(1) wfE g

(2)  H el

(3) fooig fig

(4) gefid FuR

(5) IR TE 2 =me

23. aﬁawnﬁa?ﬁawﬁﬁﬁaﬂ%mméa‘u%&r@aﬁ

(%) ITTE T ARy

24, ﬁmﬁwiﬁaﬁéaﬂam%mmﬁﬁsﬁmqﬁmm
ERCER 2022m‘qaxaﬁ’wamﬁmnm?

(1) Tgdg der

(2) At o vem
(3)  Hra =a=

(4) =™ g i
(5) I T 241 =maa

25. T TEHt #: SR 91 gfemn §

21

(1) %R F w5zamE §
(2)  =Ifde & dgumg 1
(3) @@ * <gomw 4
(4)  ZE9 % <Szam |
(5) I A 21 ATRS
ARAM/C3/Page 6
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21.

22,

23.

25.

‘

Which dance form of Haryana is also kng

‘Haryanavi Gidda’ ? i,
(1) Ratwai .

(2) Swang

(3) Gugga

(4)  Jhumar

(5) Not attempted

Who among the following is known
‘Haryana Hurricane’ ?

(1) Kapil Dev

(2) Mansoor Ali
(3)  Vijender Singh
(4)  Sushil Kumar
(5)  Not attempted

as Ih:_

Nirmal Gulia from Haryana is asso
which sport ?

(1) Handball

ciated with

(2)  Hockey
(3)  Gymnastics .
(4)  Judo

(5) Not attempted

Who among the following personalities fior

Haryana receiveq the Padma Shri in 20221 the
field of Social Work ?

(1) Raghuvendra Tanwar
(2)  Moti Lal Madan

(3) Neeraj Chopra

4) Om Prakash Gandhi
(5) . Not, attempteqd

Gugga Naumj fe
Haryang in

(D
(2)
3)
(4)
(5)

stival ig celebrated all ov¢

.
the lunar month of Phalgun
the lunar month of Kartijk
the lunay month of Bhagon

the lungay month of Shravan
Not attempteq

T @1d & T o / SPACE FOR ROUGH wogrk



Rearrange the following parts of a sentence

26. ‘
labelled as PQRS to make a meaningful
sentence.

P, power to work 1s a blessing and
Q. let us realize that the privilege
R.  the love of work is success
S, toworkis a gift, the
(1) QRPS
(2) SRPQ
(3)  QSPR
(4)  PSRQ
(3 Not attempted
27. Choose the correct passive voice form of the

following sentence.

‘——*

Read the following passage carefully and answer
questions 29, 30 and 31.

Street theatre in India is a well-established
ancient art form. Despite the proliferation of
of

street

entertainment
theatre

modern

means and

communication, continues

flourish in India.

to

Street theatre as a channel of communication has
for by
highlighting social, economic and political issues
present in the society. Unlike in the olden days,
its performance is no longer restricted to villages
or small localities of the city. They create or raise

awareness over a particular issue of public
importance.

centuries been propagating reforms

) 29. In olden days, street theatre villages
Bring a cup of coffee. ..
. or small localities of the city.
(1) He requests you to bring a cup of coffee. (1) entertained
(2)  You are requested to bring a cup of coffee. (2) was restricted to
(3)  Let a cup of coffee was brought. (3) was not restricted to
(4] Let a cup of coffee be brought. (4) was opened to
(3) Not attempted (6) Not attempted
28. Pick out the part of the following sentence which |30- Modern  means of entertainment and
has an error. If there is no error, your answer is communication street theatre.
(4). (1) helps establish
One of the state in which (2) does affect
A (3) does not affect
Satyagraha was offered was Rajkot (4)  helps popularise
B (5) Not attempted
where he spent his youth. ‘ ith issues of
C 31. Street theatre usually i
public importance.
((1) B (1) does not deal
2 ¢ (2) s distanced
3 A (3) s pcrformcd
(4) No error (4) deals =
attempted R
, (5)  Not attempted _‘M_"_t-f/;;"/
woO
ARAM/C3/Page 7 T @ & feru €T | SPACE FOR ROUGH




e

5

Choose the correct alternative to improve the
underhned part of the following sentence. 1If py
improvement is required, your answeris (4),

Don't judge each day by the harvest you reap byt

by the seeds that are planting.

(1) that you plant

(2)  that will be plant
(3)  when you plant -
(4)  No improvement
(8)  Not attempted

36,

37.

Pick out the correctly spelt word.

(1) nuisence

(2) privelege

(3) familiar

(4) usualy

(5) Not attempted

Pick out the antonym of the underlineq W

or
the following sentence. d

33.  Fill in the blank with the suitable Preposition. Alittle learning is a dangerous thing,
The boy red hair is my brother, (1)  smooth
(1) from (2) innocuous
(2) of (3)  devilish
(3) for (4) plain
(4 with (5) Not attempted
(3)  Not attempted
34. In the following sentence, a word is ﬁnderline‘i 38. i’}i;kf:llllt t‘he Synonym of the underlined yy;
Beneath the sentence, four different : oOwWIng sentence :

i : “ont ways of The child longed for th
phrasing the underlined word are indicated longed for the mother’s love.
Choose the best alternative among the four. . (1) refused
“Despite losing a lot of monejr in the stock market %, saved
crash, Suresh remained unphased ” ' (3) shouted
(1) unfizzled D @ fell
(2)  unfazed (8)  Not attempted
(33 unfaced
(4)  unphazed 39. Pick out the correctly spelt word.
(5)  Not attempted (1)  intitutionalize

35. Find out the correct indirect speech of the (2)  intutionalize
following sentence. (3) institutionalize
She said to her father, “Will you give me (4 instutionalice
sweets” ? (5)  Not attempted
(1) She has asked her father if he would give

her sweets. 40. Pick out the correctly spelt word.
(2) She requested her father to give her sweets. (1) suggession
(3) She requested her father if she would give (2)  sugestion

her sweets. (3) suggestion

(%) She asked her father if he would give her 4) suggesstion

sweets.

(5) Not attempted (5)  Not attempted
ARAM/C3/Page 8 1% @Td o feru T | SPACE FOR ROUGH WORK



.
AL wwe d fre walfue v wataard) weg g (46, Refafaa fremedt @ A gem % qifera faren oy

|
SR | TEEH Hifs
(N siu( (1) W:ﬁ%ﬂ,ﬁm,m
) wéld (2) 3 =@, WE, Fau
3) I e
4) wvs
@) g = apl, wrors, Rrerh
(5) W T T WiE

(5) I T & =@

42. fr=fofes Twi § ¥ swma gw & =37 il |

46. ﬁw-ﬁm\ﬁéﬁﬁ’m%ﬂﬁm%
(1) IR H IR ISTA T — I '

» ﬁiﬁﬁ’ﬂ’mmaﬁﬁmmﬁ?ﬁnmgﬁm
(?) sﬁ?ﬁﬁwﬁwm—si%qﬁug (1) WgHR
(3) Wl T=O ¥ FW FW AN — IooETHY (2) W=
4) vEd % T A 9l — 4) e
(5) TR T I WA | (5) ¥ ¥ =

i e AT AR AR =,y ffefiaa 3 A S s ohftm 78 20

W%I 1) waE
> @
(3") Ao S @
(4) FEAEH | : 4) e
(5) I TE 2 A= (5) 3T &l <M =Ed
4. ‘gEF TuE e F I e 2 : 48. ‘Ged § wA-i wfI R ?
(1) ‘W’gﬂﬁﬁ. SV
@ @
(3) fawr
(3) wfth % @ o s
@ (5) e e e
(5) I L A1 =R

ORK
ARAM/C3/Page 9 T 4 % feru T | SPACE FOR ROUGH W




-
; 53. fr=faflga o @ fra fomew A sr 3 =
49, ‘T 3 SR W , ¢ S Ty
¢ : Jare gafera 787 2
Wmmmmmm%.
(1) v — g W Fea e,
(1) R FHHTS TR A s, = EF%’
; HATHITH GURO qTET y
@ W - (2) WD — den wmen B ogmo ap
(3) OTNUH Hathiieh JURN ' o it iz 1
TR FHHRH UV T
*) (3) w9 — “Ha ahem = gFER gu o
(5) I TE N A& TgA-STRGE T |
- fan & i fawcht #1 gm,
50. SIESNI, WCWIMI AR FAWAHT wsql § foRen % - 5 S e T
ST ¥ g 1 S R T 2 4) I — A e atE = g )
(1) S U1 | , (5) I T &I =Ed
2) ¥IH g
8) 3RO g | 54. R it B § onfl omE & A et
@) Tl ug weg 1 IuEt Ty HIR |
(5) TR T T 9T (1) <evE, deaw 31 fesht suert
(2) dgva Iy
51. ‘o= YSA B ¥91 9w fufem g e wa ) (3) eww 3o
- T YEE ) G4t SIIE 3 Fasy, | @  freh sga
1) wEm | I W Sad wam _ (5) R € 2 =
(2) e & =g F TH & .
(3) Tofem =1 @a = PR A
“ < ¥ T 55. fam-fag 6 gfd @ g 9= =1 == Hifw |
_ ; - 1) T i @, Afgwr 2, Aowd @ TEe
(5) 37 T A1 = fra @ 3 |
2 = ffF, S w ofgs 2, seed T gES
52. Wﬁ%ﬁﬁﬁm%mwaﬁqﬁﬁg | ' R
(1) = ®) u fm  ww AfgwT 1, st gEdS 0@
2) == W '
(@) “Am (4) "0 fim s o, Afew 2, sioea wE TN
(4) wia fora @ &
(5) I A ZA =AEd (5) IR A 21 wEd
ARAM/C3/Page 10 T# w4 & feTe ¥ | SPACE FOR ROUGH WORK
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6. 9 ®udl » wig 4 sy fay v & | wmra: g
” qsal @ s @ g of) Sl @ g WA 8Y AR ﬁqu
$ifvre f s w9 & A Pard fqu o el

A Preaa/fead § |
FY7: TS AS plAi @ | i
‘ Fo PRiul e B | L
aft yeim e R |

Fey: () ToSMATE |
AD %5 s HRIAF § | -
(D F3 goim FRiAf § |

() %3 II fisperar |

(2) e I3k 11 frerd § |

(3) et I3t 11 fyewery § |

@ %ansﬁtmﬁwa%%l_

(3) I T T ==y

57. ﬁm%ff%gaﬁ%ﬁ:r-mﬁm% ?
(1) 9,18, 27
2) 69,18
(3) 7,14,921
(4) 8,16,24

(5) ST & 0 =y
%8 T S A o gy

T 3 77 ey 29
(1) oz
(2) gap
3) g

4)  upf

) I ey

56.

57.

ARAM/cslpage 11
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58.

Three statements are followed by three

conclusions. Take the statements to be true even

if they seem to be at variance from the commonly

known facts. Decide which of the given

conclusions logically follow(s) from the given
statements.

Stateme'nts ;' Some tables are chairs.
Some chairs are beds.
All beds are rooms.

Conclusions : 4] Some rooms are tables.

(ID Some rooms are chairs.

(II1)  Some beds are chairs.
(1) Only1r follows.

(2)  Only I and III folloy.
(3)  Only T and TI follow.
(4)  Only II and TIT follow.
(6) Not attempted

Find the 6dd one out,.

(1) 9,18, 27
(2) 6,918
(3 7,14, 21
(4) 8,16, 24
(5)

Not attempted

Pointing out to a lady, Raja said,
daughter of the woman who is the m
husband of my mother”. Who is the la
(1) Sister

(2)  Aunt

“She is the
other of the
dy to Raja ?

(3)  Daughter
(4)  Sister-in-law

(6) Not attempted




e

59. FraffRea guoft § ' = :
. AT 3 I v e fau R |69 I_Jetters and their number codes are given ;
| e | following table : 1 the
kil E ‘ X P M| R S T
: ' 1 Letter Elx | plwm
senge | 12|47 |9|3]|65 | ®|X /P IM|R s |
‘ . NumberCode | 1 | 2 | 4 | 7 | 9
smea wg ww e @ R Peafafea 3 A @ N ’
AFe9 ‘EMRS' &1 w2 fou have to find out which of the alternat;
Hel ®eIG 2 has the correct coded form of ‘EMRS’. e
(1) 1937 (1) 1937 '
(2) 1793 (2) 1793
S (3) 1973
5) [ =&
(5) ST (5) Not attempted
60. T a‘g TS P é‘ Q,' AT Th 5 STET-3TT e % 60. A bus driver knows five different routes from a
SR Y AT’ | 98 ‘Q Y ‘R’ T 3 TAT-3TT & qAl place ‘P’ to ‘Q. From ‘Q to R’ he knows three
R Y S T 2 I-TAAT T F qOR T JEAT 2| 98 different routes and from ‘R’ to ‘S’ he knows two
Py S dF fHdd TS H IR § SeaT § ? different routes. How many routes does he know
) fr P’ Q ?
D 16 om ‘P’ to ‘S
(1) 16
2 10 @ 10
(3 20 3) 20
4) 30 4 30
(5) TR AE &A1 =mEd (5) Not attempted
61. = ﬁ:q_ T weg =it 1 o 61. Find out the word which can be formed by using
=T ITe2 i A4 $i | the letters of the given word.
SOLIDATE
CONSOLIDATE .CON
(1) DETAIL
(1) DETAIL (2) NASAL
(2) NASAL (38) - LOCAL
(3) LOCAL (4 LENTIL
(4) LENTIL ) (5) Not attempted
- Z1 ATEd -
B i % w9 H If MANGO is coded as 13114715 in a certaint code
GO # 13114715 62. .1l FIGHT be coded in that
62 =7z faﬂ:ﬁ q‘iz et A MAN # P‘IGH’FEF?‘ language, then how wi
o gz T Frdl 2, @ 3 e same code language ?
s . 9
. STl 20
o B g (1) 69762
(1) 697620 2 69681?
(g, 696819 (3) 697819

(%) 697519

(4) 697820 _
A 2 =red

(4) 697820

(5) Not attemp&ii//,/
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¥ qE TAT D FAA AT Praes argur a1 bl
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R O M

63.

NTE
123456
1 6,5,4,3,2,1
@ 2,5.6,3,1,4

3 6,3.2,1,4,5
4) 6,3.1,2,5,4 NENT O

IR TE G TR

fyefoies § @ #-ar v fim R 2
() ZERO
CARE
PALE
STAR

(5) IR TEH & =R

T8 el foshed 1 T Hie fred e g W o
H?@Wﬁﬁf%ﬁéﬁ%@ﬂﬁﬁéq&ﬁ
EEICCRE

g . 9m  ; foaeh (2

T

e B o=

(5)

64.

(1)
2)
(3)
4)
(5)

SECH

kL)
EE R

% Wl Fien 71w i Fort g % 2 v A

66.

1) GysHyg: L dyg

W5 Xg:Y;Zg

P16 Q17: RygSig
Mi; Nip: Oy Py
(5) o 4 91 =req

(2)
(,’%)
(4)

63.

64.

65.

66.

Select the combination of numbers so that the

arranged accordingly will form a

letters

meaningful word :
NTEZROM
1 2 34 5 6

(1)
(2)
3)
(4)
(5)

6,5,4,3,2,1
2,5,6,3,1,4
6,3,2,1,4,5
6,3,1,2,54
Not attempted

Find the odd one out.
(1) ZERO
(2) CARE
(3) PALE
(4) STAR
(56) Not attempted

Choose the correct alternative which is related to
the third term in the same way as the second
term is related to the first term :

Sheep : Lamb : : Butterfly : ?

Nymph

Tadpole

Larva

oY)
(2)
3)
(4)
(5)

Caterpillar
Not attempted

Choose the correct option in which two terms of
the pair are related in the same way as in the
pair given below :

GisHig: Ii7dig

W5 Xg: Yq Zg

P16 Qu7: Rig Sio
Mj; Nyg: 013 Py
Not attempted

(1)

(2)
(3)

(5)

ARAMIC3/Page 13
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N

| BT i s e -
R . Ie’ Qe ) o ' b A3 §U [67. Five persons are sitting in a row facj
Qfar yovg ¥ arfi a7 & cing Ny,
qTe QAay UshaH d & | wOE U H Sunita is sitting to the immediate piy
31 B S fepet aRfl 3k o) W Aar 2 . R Tight
T ¥ oy _ AL a1 9| Pankaj. Kamal is sitting next to Raja wh '
o FE A} | g F @ W A3 E 2 sitting on the extreme left and Tara is not Sit? i
(D a3k am next to Kamal. Who are sitting adjaCentkT:‘
[ | (2)  ®d 3R qrg Sunita ? "‘
| I e —— () Raja and Tara
(4) 9 3R 91 (2) Kamal and Tara
(5) I AL 27 9= (3) Pankaj and Kamal
6 (4) Pankaj and Tara
8. = ! _
EEl | %Fﬁg UfagTiEes TS HT 4 w8, ar oy (5) Not attempted
(1) | TS TF 3 ?{\q} T W EEH §HT Sl 68. When you visit any historical place, you try to:
- ST | (1) just pass time moving from one place
(2) I fiFl % |19 o7Fg o | another.
(3) o F S TR R I (2) just enjoy with your friends.
| L (3) explore the cultural or social aspect of i
' design.
4 HI g Ssfie 9 Fauea A=<
(.) T AR T il =l ' (4) take pictures and enjoy a break from
SE ‘monotonous life.
(5) IAL AT T ATEd (5) Not attempted
69. Fmfifaa @ sj@en # w9 g () ¥ TIH W|g9. What will come in place df the question mark
S TEn A ? in the following number series ?
99, 80,63, _?7_ ,q35:|24,{15; 8,5 3;0 ~.99,80,63, _?_,35,24,15,8,3,0
(1) 42 , (1) 42
(2) 38 ° _ @ 38
i (3) 58 . (3) 58
(4) 48 . (4) 48 :
, (5) Not attempted

(5) Il @ A =Ted
frefafigd 9=acas sgert H T fg (2) % ¥H |79 What will come in place of the question mark
' in the following numerical series ?

70. e v e 2
14, 19, 35,59, _7_, 179,299 14,19, 35,59, _2_, 179, 299
(1) 129 (1 129
(2) 131 (2) 131
(3) 130 (3) 130
(4) 132 4) 132
(5) 3 F#f 71 =T (6) Not attempted
';:é/xrl\ﬁ{/&m ”ﬁ* 1% @14 % feru T [ SPACE FOR ROUGH WORK
LR ki &3 v ¢
g
sy lo 9 M L - ¥




e
Aen & i 4 Ffalad 3 8 S19-@/8 wua |71, Which of the following statements is/are correct
g1, A

v, about Apical Meristem ?
' ' i nt at the growing tips of stems
(a) T8 T T A S FGd ® Rl e & ol @ itmlls r?)l(;::eaid increagslis thg lethh of the
o g < TS Bl TG R | stem and the root.
(b) Wmﬁaﬁ WWW%W% | (b) Due to this the girth of the stem or root
: " increases.
D i s (%) 5 & (¢) It is seen in some plants and located near
e fog T e @ W fashew w1 9w Hifvr the node.
() 9@ (0 Choose the correct option from the codes given
\2‘) (2) T (b) below :
3)  (b) T (e) (1) Only (c)
4 F39 (a) (2) (a)and (b)
(5) I T (3) (b)and (©)

(4) Only (a)
(6) Not attempted

~1
[

H1k g 3 e # 9 Hiex Tl } ofk v 5 e &
23 Wit 1 gt 7wt § | 38 F¥G A o o wn

2 72.  An object travels 9 metres in 3 seconds and then
W 6 st e avesgs sy o e ety TR 8 the
@ 3 wfy d%e _ 1) 6mss o
@) 4w s e @ 3mis | o
@ sHiR i THs : (3) 4mss

(5) T W . (4) 5m/s

: (5) Not attempted
73. T ASE Raw, 2022 6 g w0

1) “Rei ot @30 WWW%%‘Q \G 73. What is the theme of the ‘World Ozone Day’,
o

S 2022 ? ' . |
(1) “Delhi Protocol @ 30 : Protection of Life
(?) Tt S @ 36 : A Waw % frw through Global Cooperation”
e el (2) “Rio Protocol @ 36 : Global Cooperation for
(3) “aritfeufdy % T ¥ fimu qﬁaﬁsﬁﬁ%” Protection of ozone”
4) ‘G S @35 : 9ot 0 e e & 3) ‘ “Montre:’al Protocol for Protection of
o S Ecology
_ ) (4) “Montreal Protocol @ 35 - Global
(5) = 7 2wy Cooperation Protecting Life on Earth”
. A HAF ™ (HTTPS) 1 il e 2 (5)  Not attempted
T?ﬁjam AT TE gy I R SE (74, HTTPS is an acronym for | which should
ey | be used while entering sensitive information.
(1) e T I TeTahie diga—q (1)  Hyper Text Transfer Protocoll Sequence ‘
- ; T r Text Transfer Protocol Secure
((\5) b 237?, W ' ‘ @?Rﬁ( g; Ezgteer Text Transmission Protocol Secure

Te Transmission Protocol
TR S 7 - 5 (4) Hyper  Text
4) = SR Mt digaea Sequence
2 8 2 e 5)  Not attempted
A (l)ﬁ)i AN
I3 page 15 =
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Y
75. ¥ 1960 ¥ Toud o wRWY A A AU URi

wm%mmﬁammﬁaw
A« T A 9 and Maharashtra ?
‘ (1) 9T

(2) s

75. Which among the following States in 196 N

bifurcated to create two new States of Glljari
ary

(1) Nagpur

(2) Bombay

3)  AFHJET] (3) Ahmedabad
CANECE]

(5) I L 1 =Ed

(4) Daman

(56) Not attempted

76. TyefaRed ol ® /, AR B gagH i 3rfeeer 3 | 76.

Among the following countries, which was {|

ST AT I A 12 last country to give voting rights to women ?
(1) T34 (1) Saudi Arabia
(2) =N : (2) China
(3) e (3) Pakistan
(4) AfFgst (4) Mexico
(5) =R T8 3 =T ' (5) Not attempted
' 77. With whom is the Cash Reserve Ratio (CR
4 77. Toc SREG IO (H.AR.AR.) w1 fREs uE @ Kent ?
: . ept ?
EIGINN :
' (1) Finance Commission of India
(1) o7 = fam mam .
. ~ (2) Comptroller and Auditor General of Indiz
(2) WA % TS S HERE T ,
A (8) Reserve Bank of India
(3) WA T 9% ‘
) . (4) International Monetary Fund
(4) iwgE oo

(6) Not attempted
(5) e El & A
78. Which among the following countries ranked

2 s
78. ofafga @ @ o & A “oAmam FHA B * highest on the “Ease of Doing Business” Index '

mmmzomﬁﬁmwﬂmﬁm%? 2021 ?

(1) m (1) Portugal
— (2) India

[é} < (3) China

(;1) e (4) New Zealand

(5) e A Za1 ATEd (6) Not attempted

“ARAMIC3/Page 16 1% @ & fe1u T | SPACE FOR ROUGH WORK
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7 .
‘ Fffator afn A 1 @ Sl awdl [79. What is the name of the sorting method that
79, 39 i ardl VT g ;;:] % st 8 4 21 refers to sorting a given list of clements and
A A g Tl b EF: e swapping them if they are unordered ?
7 arga-ageh A weffa & ¢
A (%a;) (1) Deque
. ﬁl@ﬁﬂﬁﬂﬁ | (2) Selection Sort
2)
L It (3) Insertion Sort
(3) FAEsiT wid 7
T Sort
(4 s HE (4) Bubble So
(5) S| & & =iwd (6) Not attempted

o)
=

» ' 80. Which of the following network device extracts
fFrfefes # § a1 Seash Irwwr 3o 9% @ R the destination address from the data packet and
AT (ugw) Nepreran 7 3R T T e | @ 2 fw looks it up in a table to see where to send the
I ® FF A WY 3N Faw iR sy I

packet and sends signals only to selected

e S9ar g 2 ' devices ?

(1) 3 (1) Gateway
(2) == ' (2) Hub

gé) &= (3)  Switch
(4) ®X (4) Router
(5) I T AT | =R

(5) Not attempted

o o~ o ’ . : : 81. Which of the following o tions lists all devices
m.ﬁm%naaw%%qﬁmﬁﬁqnqmﬂm g op s

) 5 = ( N s used for output from a computer ?

FH F g1 g AIYeE) F Hm 3 ?

O W . ) 8 (1)  Flat panel display, Plotter, Barcode scanner

I\EFEEI, W, dRhIg ﬁ:ﬂ: )
@) o o, s frer. (2) Laser printer, Optical character reader.
) . » TS Plotter

@) & fiex, s e,

@ i . ) Rt ot ' (3) Laser printer, Inkjet printer, Scanner

) 1T Iz[a 335:’\12 , w : . ;

(5) 3 T 3y e (4) LED display monitor, Inkjet printer, Plotter

Q = Q: C .
(5) Not attempted

82. Pfafas § 4 B ofiey i wRifafy ¥ |82 Which of the following lakes is the result of

TRy 39 7 9 tectonic activity ?

1)+t g (1)  Kolleru Lake

2) = i (2)  Sambhar Lake

@) faferar 2he (83) Chilika Lake

4) I e (4)  Wular Lake

(5) I EEi ?«:ﬂ qreq (6) Not attempted ) -
*RAMIC3/Page 17 . P ou
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84.
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r=

7 A A yndlr dfauig
idla N 429 @9 grRa 1976 0 W18 8 2

A atalag NIE
A gmaang

SOEER R

—

SIEREIRED
qufaray
A Ry 2 A 9D RAaen o a4l hifstu .

\C

d)

1 () ast (d)

;7“5\*'7 L)
Q) d™ ()

4 ) T (b)

9}

T TTm ¥ wiwenstt w1 wwwr sfufEm, 2005 %

==+ 3, FT=fafiaa & @ s9-ar s a8t 787 8 2

1 =z w9 o S R T 1w TR
qEaT § |

2) =z fufm wfgenstt ft wifes aon arfoes

S5 21 & GRET T § |

72 sifufm et Jarfew Gedl ) TE Z 2

721 Fora-3T daYl HI HIE GO L I |

a2 sty s s e R

THE AEAT B |

LS

(4 )

2)

s wEEm d@Med  (TAEHLHI) Hes TS %

SFraraE A £ 23 o, 2022 % G99 g aret

o0 Fzm wEl avntaa F1 s A ?

AT
2 1
(3) ATITE2
(4) &
(5) a7 241 =req

83.

84.

85.

@

D -

Which of the following word/s was/were addeq
the Preamble of the Indian Constitution ip 1o
through the 42" Amendment ?

()
(b)

Socialist
Q -
Sovereign

(c) Democratic

(d) Secular

Choose the correct option from the codes giye,
below :

(1) (a)and (d)

(2) Only (b)

(3) (a)and (c¢)

(4) (c) and (b)

(56) Not attempted

Which among the following statements is not
correct with regard to the Protection of Women
from Domestic Violence Act, 2005 ? '

(1) Sexual abuse is considered a form of
domestic violence under the Act.

(2) - The Act protects women from both physical
and verbal abuse.

(3) The Act does not extend to ‘live-in’
relationships and only covers marital
households.

Economic abuse is considered a form of
domestic violence under the Act.

(5) Not attempted

Where was the 20th meeting of

Prosecutors-General of the Shanghai

Cooperation Organisation (SCO) Member States
held on 2374 September, 2022 ?

(1) Astana
(2) Tokyo

(8) Tashkent
(4) Kiev

(6) Not attempted

F a;rei & f-an nm / SPACE FOR ROUGH WORK



P

86:

89,

dﬂa}?m%mﬁﬁ@ﬂam@:ﬁﬁ?w%m
ﬂﬁﬂlmm%:

50%

25%

35%

1
2
3

40%
SR G & =S

ﬁ%@ﬁmﬁlﬂ7%%maﬁl5mm

@)
(5)

FURYT SIT, JH EAURT W 12%%aﬁasam 8 HTE

¥ FUT W ¥ T 32-50 A 7, A w0 (T F)
B
QN
2)
(3)
@
5)

3,250
3,000
3,060
3,120
IR A S A=

A w8 F 15 &7 # qon B s w9 20 R &

T EHA R | AR 78 A et o 3w e w4 R
ﬁﬁ%%,?ﬁ?ﬂﬁw‘mmw R Jran ? ?

8
1 S
(@))] 15
@ 1
4
@ L
10
@
15
5) I ad &1 ==y

@mﬁéméamaﬁ@éﬁmze.ﬂmm
%Wﬁmmammﬁszgmw%|
A i wherd (e #) % '
1) 13
2) e
®3) 8
4 9

(&) - I 7 & A

ARAMICa/Page 19

86.

87.

88.

89.

N

Oranges are bought at 5 for & 10 and sold at
6 for T 15. The profit percent is :

(1) 50%
(2) 26%
(3) 36%
(4) 40%
(56) Not attempted

If the simple interest on a certain sum for

15 months at 7%% per annum exceeds the

simple interest on the same sum for 8 months at
1 .

125% per annum, by ¥ 32-50, then the sum (in

T)is:

(1) 3,250

(2) 3,000

(3) 3,060

(4) 3,120

(5) Not attempted

A can do a work in 15 days and B in 20 days. If

they work on it together for 4 days, then the
fraction of work that is left, is :

&) % .
® ;
@) 1l0
@) —173
(5) Not attempted _

The ratio of length and breadth of a rectangle is
3 : 2 respectively. The ratio of its perimeter and

area is 5 : 9. The breadth of the rectangle (in
metres) is :

1) 13
2) 6
3 8
4) 9

(6) Not attempted

T T4 % férg Torm / SPACE FOR ROUGH WORK




90.

91.

92.

93.

Wl A @ p & SUE W399 quils &)

IR

TN R
) 6
2) 3
3 4
CY

(4]

(5) I & AT =red

T TS T TH T H 25 W 0T FY B HaT T |
o ¥, I W 52 W Ion o e Rrad g
TEE, ¥ TFRA 324 I SW gen | om
F Tret T o

(1) 52

2 12

@ 15

4 25

(5) IR A& <A1 =18

R n WE THd wewm B, @ IHATH "
FH-41 2 el (8 - n) wee foenfom & 2

(1 .18

2 3

(3)

4) 12

(5) I & 21 =vEa

Y, (x +3)% Gueqrdt 2 qem y =8B 5 x = 1 B |
x=2% for y &1 am e 2 2

(1) 16

2) 6

(3) 10

(4) 12

(5) I FE 21 =g

ARAM/C3/Page 20

90.

If [p] denotes the greatest integer less than or
equal to p, then

] e
is equal to :
1) 6
(2) 3
3) 4
4) 5

(5) Not attempted

91. A boy was asked to multiply a certain number by

92.

93.

25. He, by mistake, multiplied the number by 52
and got the product which was greater than the
correct product by 324. The number to be
multiplied was :

(1) 52

(2 12

@ 15

4) 25
(5) Not attempted

If n be any natural number, then by which
greatest number is (n3 — n) always divisible ?

(@918

(2)

3)

4) 12 ;

(5) Not attempted

y varies directly proportional to (x + 3) and y = 8
when x = 1. What is the value of y when x = 2?
(1) 16

(2) 6

(3) 10

4) 12

(5) Not attempted

e mmﬁ-—m 9T | SPACE FOR ROUGH WORK



g4, THH A A QW N H& Wil fretn Rrad 3 fysw 41 |94, A milkman mixed some water with milk to gain

T W AT W 25% TN R | e i U U 256% by selling the mixture at the cost price. The
o 3 3. ratio of water and milk, respectively, in the

mixture is :

(H 1:4
(1 1:4

@ 5:4

3) 4:5 (2) 5:4

(3 I TE 3 9 4) 1:5

(5) Not élttempted

95. TH SE W 24 WA * oy @ W @ 3 /A, wfy

TFs B R Q o BT TR el R T qgé 95. A bus moving at a speed of 24 m/s begins to slow

I et E:\ﬁ T A 2 at a rate of 3 m/s each second. How far does it go
- before stopping ?
(1) 967+.
, ' (1) 96m
(2) 484t
e (2) 48m
(3) 607. :
7 8) 60m
(4) 724 .
. ' @ 72m
(5) I T ==y .

(5) Not attempted

9%. A3 =T 85,000 =T X U AR ey ey | B
o0y 5 9TEE T 42,500 % @1y B 39 =R ¥ fiye7|96. A began a business with ¥ 85,000. He was Jjoined
™ | 3z ad & I H AW 3. 1% Wﬁ stay afterwards by B ‘with ¥ 42,500. For how much
T, 91 B fhay o % faq IE A ) period does B j Jom, if the profits at the end of the
: year are divided in the ratio 3: 1 ?
(1) sam .
(1) 8 months
(2) 4um
' (2) 4 months
@ 5 (3) B months
4) 6am (4) 6 months
(5) IR TE T =mey (5) Not attempted
\\
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100.

(D

U s gt wmieh &1 76% @d wan R | )
et 209% s et R @ 98 A @S A Wy 109 6
FAFY T Q@ R | Iuh) g=d A Il gfy

50%

10%

4 37-9

(B3) IR IS &A1 e

BS |

T Wigd gemrel Ht geht 7 15 Beam w, aem 2@ wg
S R 13w R g H 1 R W, el # arey
13w e } | andtash gt # gt fhaft st § 9

D

e s}

,_
(V5]

-
¢

4) 6 :

(5) I TE AT =R

B: TN a,b,c,d,e,f%HWl’(%ﬁFab:l,
bc=%,cd=6,de=2‘d¥ﬂef= —;—%l(ad:be:cf)
FAAFE ?

72:1:9

4:3:27

6:1:9

8:9:9

I TE A =

(2)
(3)
(4)
(5)

A F1 A F1 5%, B H e % 15% F ST B
7 B & AmeA H 10%, C H Imeh F 20% *
Fmmer 2 | afe C & SmEAt T 2,000 %, @ A, B A= C
#1 e %1 A (T H) B

(1) 18,000

(2) 6,000

(3) 9,000

(4) 12,000

(5) 3w A& &A1 FrEd

97.

98.

99.

100.

.

A man spends 75% of his income. His incomg i
increased by 20% and he thus also increaseq hig
expenditure by 10%. His savings increased.by:

(1) bH0%
(2) 10%
(3) 25%
(4) 37 % %
(5)

Not attempted

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is included
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list ?

(1 8

(2 4

3) 5

4 6

(5) Not attempted

Six numbers a, b, c, d, e, f are such that ab = 1,

be = %, cd =6,de =2 and ef = l What is the

¥4

value of (ad : be : cf) ?
1 72:1:9

2 4:3:27

3) 6:1:9

(4) 8:9:9

(5) Not attempted

5% income of A is equal to 15% income of B and
10% income of B is equal to 20% income of C.
If income of C is ¥ 2,000, then the sum of the
incomes (in ¥) of A, B and C is :

(1) 18,000
(2) 6,000
(3) 9,000
(4) 12,000

(5) Not attempted
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